Data for Question: 
Capital structure a

Current 

A 

B

Source of capital 
(10% debt)       (30% debt)         (50% debt)

Long-term debt 
$1,000,000 
   $3,000,000 
       $5,000,000

Coupon interest rate b
       9%                     10%                    12%

Common stock            100,000 shares      70,000 shares     40,000 shares

Required return on equity, ksc
 


     12%                      13%                    18%
aThese structures are based on maintaining the firm’s current level of $10,000,000 of total financing.

bInterest rate applicable to all debt.

cMarket-based return for the given level of risk.
